	Find 
	pH
	pOH
	[H+] = mol/L
	[OH-] = mol/L

	pH
	X
	pH = 14 - pOH
	If [H+ ] = 1.0 x 10 –x
pH = x

*************

If [H+] # 1.0 x 10 –x
pH = - log [H+]


	pOH = - log [OH-]

pH = 14 - pOH

	pOH
	pOH = 14 - pH
	X
	pH = - log [H+]

pOH = 14 - pH
	If [OH- ] = 1.0 x 10 –x
pOH = x

*************

If [OH-] # 1.0 x 10 –x
pOH = -  log [OH-]



	[H+]

mol/L
	[H+] = 1.0 x 10 – pH

	pH = 14 – pOH

[H+] = 1.0 x 10 – pH
	X
	[H+] = 1.0 x 10 -14
              [OH-]

	[OH-]

mol/L
	pOH = 14 – pH

[OH-] = 1.0 x 10 - pOH
	[OH-] = 1.0 x 10 - pOH
	[OH-] = 1.0 x 10 -14
              [H+]
	X




EASY TOOL FOR CALCULATING     [H+] [OH-] pH and pOH

Given

